EARAZROREIERT — 2 N—XBISY —F 2017810848 (k) 15@E%EHE2H

m 312 12 ¥Y7FR3% ‘ =z # ‘ (rsh] — | & () 1400M &
[AE£] 1% :250,000” ~ 23#%&:63,000”  33%&:25,000M”  43%&:15000 M .~ 57 :10,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
¢ N . 9 _EaLtE :33. 02— . — BEOE (BHE)
N PIEZA= 3 fit 1(3_3)1 2-2-2-2 | 41.1 2 :1_330) ﬁa;ma
RW—=F—=29 T BYTI/NLT7 ARAINT7—L
> L = # 3 | AMEE 1:33.8 1-1-1-1 | 42.5| — 1 442 | AEEL (BHE)
26| ¥ T*NV//UTH 5.0 ® o) | W) $ITLyKI5TIT T
274 -V K B:aAXEXNIL EvJLy RKTr7—L4
[eE] S 50 : ~7-5- - ATEN (BHE)
3 g | Ny b i3 LS 1.(365>.1 7-7-5-5 | 40.8 3 (4:&17) ;mu
R:TTyTaAK BieL /AT chiiiis
B 3 | RARFNAER 1:35.4 6-6-7-6 | 41.0 | — 4 403 | FHRES (BHE)
s 2| T —AMT— 54.0 (1 1/2) o) | EE
L:wyVgdykR BiAH/N—F=— FEZ %Y K
S 43 | BEREE 1:35.8 4-4-4-3 | 41.8| — 7 442 | EFEF) (F1R)
1 3 FIEEEhdaad 54.0 @) (-p) | EBESLMH }
RNAT =4 —L B:73/T77=14~— =2 N
SRS ¥ A TIES :36. —5-5- . — BREX (BHE)
6l15|5|H>NUw 4 3 *55.(1)% 1(3;3)5 5-5-5-7 | 42.2 6 (4_715) i
R:A—J XA A1 B:ILARXTFILZ LB FE
= e o N =N :36. -3-3- . — AOBFH (BEE)
707171770y a> 4 3 iss.o 1(33/%6 334|434 ° (4_036) EEEF
LNAT =~ BiAYYAFh BH A3
X . 5 3 | AERES 1:39.1 8-8-8-8 |43.6| — 8 434 | WIPIER (%)
811 /\'fZ!’l/'/ NA—Ib 54.0 (54 4) #3) ) 71;_};7
R:TLAU5>T7Yy N BOESXXZ K EUE BTN
@ 1—F—@&BIEf
13=7r= 6,4,7,3,5,2,8,1
Aol=5r= 6,4,7,3,5,2,8,1
33—+— |[6,4,7,3,(5,8),2,1
43—+ — 6,4,3,7,8,2,5,1
[ RN
B OB 4 240 714K 4-6 100H B E 4-6 100H &R 4-6-8 190H
% B 4 100 4-8 1500 | | B B 4-6 270 | | SEE 4-6-8 510M
6 1004 6-8 140H
8 140M

ABICOVWTRDTEEERROODE. TR LIV,



